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1. Ffafaa 2o ,\:\@
- >
10,7:6,8,5,4,7,7
7 3 fogqe W' (? 2) e §
(@) 3TuT 6
_(b) 637 3
(c) 6aur 2
(d) 3 2

() I & 13 e

2. Trafafad sige-avf & foge wm (7) ©
Freferfaa & & e s1gr e 2
X Fr2 0 H: D

(a) M
(b) N
(©) O
@ Q
~(6) ¥ | 5 T
3. Fm=fafen wemedl 587, 875, 695, 767,

867 1 & e, et fam & ot o=
TR @ 3 ?

X2~ 2 £3

3 - 42 -3 4]

O The two missing terms ('? ?) in the
~ following series

10, 7, 6 8, 5, 4, ?, ? are respectively
(a) 3and 6
/Gbif ér;a 3
(c) 6and 2
(d) 3and 2

(e) None of these

2. Which of the following letters will
appear in the missing place (?) in the
following letter series ?

X, 1,2, L;H.D
i

(@ M
(b) | N
© 0
@ Q

_,.,ga)"'ﬁlzone of these

—

(3.) Which one of the following numbers

587, 875, 6895, 767, 867 is different from
the other numbers, in accordance with

some rule ?
(a) 695 695
(b} 767 (b) 767
(c) 867 (c) 867
(d) 875 (d) 875
(e) 98 & w18 el (e) None of these
CGP-14-02 * Page No. 4 Set-A
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4, é@g%\ﬁm%f@aaaaﬁ(&_s,jg,m),
(11,19,2,3), (5,29, 2,13), (2, 31, 11, 4)

F | w7 v (@R B 2 ), R
Frem % sranfa, o= Tl @ e & 2

(@) (3,5, 19, 13)
(b) (11,19, 2, 3)
(©) (3,29,2,13)
<) (2,31, 11, 4)
I(e) T @ B 7

5. ﬁw%%aﬁmwﬁa(?)%wmw
HIE! e s 2

7 4
25
1
(a) 26
(b) 33
(c) 35
“(d) 36

(e) 3 @ =wr$ 7

6. 1am130%aﬁaﬁi¥ﬁﬁwaﬁﬁﬁw,
ST 68 ffr gt & (AES I) qoT
ﬁqﬁﬁamaﬁwmqt‘s’aﬂaﬁm%,%

(a) 5

s+
.I’-r

@ Which one geﬁ of the following gets of
—__numbers (3, 5, 19, 13), (11,°19, 2, 3),

2., —13,29,2,13),(2,31, 11, 4) is different (if

any) from the other sets, in accordance
with some rule ? oM

ey (3,5,19,13)
(b) (11,19,2, 3)
(©) (3,29,2, 13)
+d) (2,31,11,4)

(e) None of these

. '
5. -\What is the number in place of question

\——mark (?) in the following ?

(e) None of these

6. The number of numbers between 1 and
130 which are divisible by 6 with zero
remainder and which consist of the digit

(6’ in any place is

(a) 5
(b) 7 54
(c) 8 © 8
(d) 16 @16
(e) 8 @ =¥ 7 Je}ﬂgne of these
CGP - 1402 +

gr / 3'6"/ él’fj /e '6.‘(;/}_\/ y 2) [2
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7. @1, 2 3 3Q STS STRaTel 3 3] I 7. The sum of all the 3 digit numbers
. S which are formed by the digits 1, 2 and
S wfl wene, fr st A STRE N 3 without repetition of digits is
B, A )
. 11} (a) 1233
(a) 1233 13 &, (b) 1321
b) 1321 “ Q-
(b) i 2/ (c) 1323
(c) 1323 3] 2 /(dﬁééé'
(d) 1332 2 : L (e) None of these
(e) 378 & =13 e "Jrf;'} 2.
e 8. Atthe end of a meeting, all the persons
8. frelt i ¥ o . o 39 =R present shook hands with each other
) " 4 ~once. The total number of ‘handshakes’
T ¥ T AR g Fred €1 et 15 4R is 15. Number of persons present in the
1 fiene | S A 3ufen sfEEt f meeting is
e § @ 5 ‘
5 _..f""f.-.
P L © 7
" 5
ek s (@ 8
@ 8 bt
«e) None of these
(e) ¥ & = T
9. From the digits 0, 1, 2 upto 1 g,_ the
9. 0,1, 2@1gama;31ﬁ(g=@-;3ﬁ)ﬁa,@ number of digit(s) whose mirror
sich /i v/ Roert 33 i i e image(s) is (are) same as the original
sih /S ALY cigh(s) is.
(a) 0 - (@) O
\
(b) 1 4 19 (b) 1
@2 } @z
@ 3 AT
(e) T & 1S 7 (e) None of these
CGP-14-02 * Page No. 6 Set-A
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10. F=fafen den §, frg 3% I TR
el AR EE R 2
87564256822
(@) 5
(b) 6
(c) 8
(@ 2
(e) T & %X 7
1. 1239 6 @ smer = (=g 6 ey,

<Ner 4 31ex) % Enft R R, 1.5 et e
iR T o Forer Ram | =

& S G O g R e e
ﬁmw%rmmwm(ﬂqﬁaﬁ)é
@ 95 |
(b) o
@43 ¢

/
@ 12
(e) T @ #K et

12. 7@7@107%@%&1%%1%

10.  In the following number, which digit is
repeated once in the very beginning ?
87564255822 |

s
_Aars

(b) 6

(c) 8

(d) 2

(e) None of these

11. Froma rectangular sheet of tin (length
6 meter, breadth 4 meter), a square of
side 1.5 meter is cut from all the corners
of the sheet. The remaining portion of

- the sheet is folded into the shape of an

open box. The volume of the box in
cubic meters is

@ 95

(b) 9

s

135
(d) e

(e) None of these

¥ 3 I S o 3 12. 7is multiplied by 7, 107 times. The digit
(a) 1 in the unit’s place in the product is
“ow® | W
(© 7 w i B
.:f;;/”,‘. © 7 _
ﬁ\\ (d) 9 7'_:':;;_
! T8
(e) 399 | F1 7 *(e) None of these
CGP - 14— 02 —~ Page No. 7 - bIy
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13. ARA 4°x 9% x 77 H AT PEEUE
1 F gt &

(o 3
(b) 20
(c) 15
(d) 11
e) 3T | s el

14. < sfad foredt 7ol ¥ oo g x o gu
HTd 8 | I9eh! =TeT ShAS: 2 To6 1., 3 foh it
T 4 fr . wft wver 3 ) R siea AT
(.1t ufq =wa) 2

@ 23

:
(d) 33
(e) 0 W 13 el

15.  (4764)1795 % 53 sy o ST S | TR B

) w8 T
2_5/( 3% %7

[/O .\ The total number of prime factors in the

\"‘--_.

product 4%x 9% %77 is
T () 20

() 15
Ad) 11

(e) None of these

14. Three persons walk some distance’g:?
along a street at the speed of 2 km.,
3 km. and 4 km. per hour. Their average
speed is (in km. per hour)

A
(d) 35

—e) None of these

15/, (4764)1795 s divided by 5. The
remainder is
(a) 1
. a) 1
o (a)
(b) 2
SR © 3
(d) 4 /(d»,/;
e) 3 ¥ =TE 7 (e) None of these
CGP-14-02* Page No. 8 Set-A
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16. waﬁ'@ﬁm%ﬂ@BtﬂFﬁﬂ%%lsﬁﬁﬁ
Q%ﬁwﬁa‘rﬁémﬁaﬂaﬁﬁﬁiﬁﬁﬁw
Gl 8 ?

(@) 73
(b) 36
(c) 28
(d) 54
(e) T & ¢ &

= guife @ o # et ol § 7 w11 g
sfcrere U spTer W e S7ehi e ST e R
161
151
141
131
12
"
!.
09
08 1

0.7
06 1
05 -

04-
03 4
02
0.1

0

BE 2 3 45
T HEIN 17 § 21 9% safahla fe w smfa
B | 5 T &% It AR |

17. @ Fra®f e ¥ Rl e <1 o

-

16. A box contains 10 green and 8 yellow
balls. In how many ways, two balls of
the same-colour can be drawn ?

) 73
(b) 36
(c) 28
(d) 54
(e) None of these

The following figure shows the ratio of marks
of History and Geography of 7 students inan
examination.

16 1
15
14
13 1
12
111
1 R
09
08

9 071
061 ~
- 0.5 - -\l\:\ / LY
| IS
04 _ “ﬁ“ J;,/
03 1 . ) s

02

0.1

0 . ; : . T r ¥

Student 1 2 3 4 5 6 7

The question numbers 17 to 21 are based on

the above shown figure. Answer these
questions.

17.  How many students got more marks in

sftere § sfirn oieh i U E 2 Hlstory than in Geography ?
(a) 2 T2 -
A0 3 3
(c) 4 (c) 4
(d) 5 (& 5
e) 18 & 15 Tl (e) None of these
CGP-14-02* Page No. 9 Set-A



% frrferiaa & & o5 ot 3 spiver <1 s
gfoem 7 9 37 gt few 2
@) 1,3,5,6
(b) 4,5,7
(€) 1,4,5,7
(d) 1,3,6,7
(e) I &
19. 8@ 3% 4 % forw e & W i)
fRTa S5 §
(a) 15
(b) 20
MO
(d) 3rowricd arierg
(e) T & wrs e

18.  Which of the following students got less
marks in History than in Geography ?

(@) 1,8,5,6
Mﬁ, 5,7
(©) 1,4,5,7

(@) 1,3,6,7

\})@Vﬁ’bne of these

19. Percentage increase of marks in
Geography from student 3 to 4 is

(a) 15
(b) 20

A9'90

k/(clj Insufficient d_a}ta

: f th
/(Q-)’FTOFIQO ese | ; S
- (S0

. i f ti
. AR e frsrrengmae | % Mo o masrin m
1w B Geography is _ 29
(a) 0.45 (@) 0.45 J/’" T
(b) 0.50 (b) 0.50
(©) 0.90 (c) 0.90
(d) 0.95 (d) 095
(e) ¥ & =S e /Mo.ne of these
CGP-14-02 * Page No.“10 Set-A
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21. BHAFR YA H 60 FF IAERE | 3hem
H Ih 7 o
(a) 48
(b) 68
() 72
(d) Rerffa 7T e s warat
(e) TH | ¥ T

et R fors 1 Rt g X 1 T 1993 &
1999 T s %, A 9T TR |

1000

h
e

96-97 97.98 98-99

mmzzﬁ%wwﬁﬁhﬁamm
%lsqw:ﬁéamﬂﬁmt

22. 1994-95 8 1995-96 d& X & E o

e -
: ¥ ! ‘
21.  Student 4 got 60 marksjin Geography.
His marks in History are
(a) 48
(b) 68 JL
(c) 72
(d) Cannot be determined
-(e’j None-oflthese
The following graph shows the import of a

certain commodity X in Crore Rupees
between 1993 and 1999.

Import of X

A

g_oun
%
§ 1 1300
0 ©
E .‘/ 'b"
o s 95-95 %97 9798 9899

The question numbers 22 to 26 are based on

the above shown figure. Answer these
questions.

At 22. Percent increase in import of X from
1994-95 to 1995-96 is
(&) 43 (a) 43
(b) 33.3 /b‘;fs( 4
(c) 28.8 (c) 28.8
(d) 25 . (d) 25
(o) 7 A FK 7 —{e) None of these
CGP-14-02* Page No. 11 | Set-A
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23. wift ot & forg wrer & Wt x%aﬁaﬁ
ST 1 3Ed & (RS &, W)

(a)_. 260

(b) 280

(c) 325

(d) Trerffa =2 o s werar
(e) ¥ @ =g 7

24. o =l & forg, X o1 T 3o ehgq
TR G e o1 2

(a) 4
(b) 3
(c) 2
(d) 1
(e) 37 & =S &l
:25. 3 i, ol X o1 s, sted st @

%9 ¢ 991 et X =71 s1rma, g s
¥ a1feres R, ) e w1 o 2

23. Average of the increase inimport of X year
by year for all the years is (in Crore Rs.)

_Aay 260
(b) 280
(c) 325

(d) Cannot be determined
Mone of these

24. For how many years, there was more
import of X than the average import of X ?

(a) 4
(b) 3
Pl
(d) 1

{e) None of these

25. The difference of the numbers of years
in which import of X is less than the
average import and in which import of
X is more than the average import is

(a) 3 ey’

(b) 2 (b) 2

(c) 1 (c) 1

(@0 @) o

(e) s & =1 TEl (e) None of these
Page No. 12
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26. TfRea aut A o e, X & s

- ferell Uer o (@t aet) 3 St 3 e
77

(a) 1995-96 ©F 1996-97

(b) 1997-98 td 1998-99

(c) 1993-94 td 1998-99

(d) (b) T (c) 3wt

(e) T @ =g e

Frefafaa st (27 @ 33 o) o vow # v v

T QY Y 1 a2 ¥ | Snyent Rty o 2

U 1 TATFH2 T FT IR 3 F e vafeg § oy

T8t | et faeren g

A1) =t TR Y T IR Sad w1 @ e 2
Teheq et %2 @ 7 fireran

A2) AR ATIRY T T I et 2 Y Frerr 2
o et % 1 & Y fireran

A3) afe IR YT T IR F1 T F2 A1 F
T |1 AT & frern @ st Rr w1s off wom
I 39§ I 2 ¥ Fore vt e 2

Ad) IR I AT F e, w1 o1 o9 F e 2
YT &2 39 319 § yafeg 2

A5) 3f IR I¥T T I R U 2 A *
AT B off T e qon 3w wfe % fre
Fo Afos gum Y sravasea 2

27. a+bFANRIL?

26. For which of the following years, the
difference of import of X is equal to the
import of X for one (two) particular
year(s) ?

(ay1995-96 and 1996-97
~ (b) 1997-98 and 1998-99
(c) 1993-94 and 1998-99
(d) Both (b) and (c)
(e) None of these

Each of the following problems from 27 to 33
has a question and two statements S1and S2.
You have to decide whether the statements
S1 and S2 are sufficient to answer the
question. Your choice will be

A1) Ifyou getthe answer from 81 alone but
not from S2 alone D

A2) Ifyou get the : answer from S2 alone lone but
not from S1 alone.

A3) ' If you get the answer from S1 and S2
together although neither statement in—
itseif is sufficient to answer the qugstion

Ad) If S1 alone is sufficient tand Sg alone is)
sufficient to get the answer.

A5) Ifyoudo not get the answer from S1 ‘and
S2 together and some more mformatton
is requnred to get the answer.

27. Whatisthevalueofa+b?

F1:a42b=7 Siid+@b=7

$2:3a+b=6 S a0
(a) A1 (a) A1l
(b) A2 (b) A2
(c) A4 (c) A4
(d) A5 (d) A5
(e) T & =% et '_(e)""NBne of these

CGP-14-02* Page No. 13 Set-A
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28. i forg P, Q, R o W m | frg

29,

H,P@Q%aﬁaﬁ%mqa‘o,sovﬂaﬁ
W wE

Q@R%aﬁa.ﬁﬁmﬁqfr%?
$1:Pﬂﬁ§?onrﬁwﬁmé%l
_652 : PQ# gt QR @ 20% i 2 |
(a) A1

(b) A2

(c) A3

(d) A4

(e) ¥ & =g et
ﬁiﬁw%aﬁwﬁm@aﬁvﬁmﬁrﬁsﬂm
? 1 . w3 gm0

15 xS I Fve R Fwm @y

28. ThreepointsP,Q,Rareona straight line.
The point R is between P and Q. The
distance between P and Q is 50 meters.

What is the distance between QandR ?
7

| 1 |
S1 : distance PR is g’d of QR./
S2: distance PQ is 20% more than QR.

(a) A1
(b) A2

() A3

-

/(d)/,ii;i

(e) None of these

29. Abusis moving on the main road of a .
city. What is its speed in kms. per hour ?

S1: The bus is moving at a speed of
X meters per second.—

S2 : The path of the bus is circular. .,<

2 : TH HT U JAH 2 | (é)-’ﬂﬁ/
i o

(a) A1
(b) A2

(b) A2

©) A3 (c) A3

(d) A5 (d) A5

() ¥ & I 7l (e) None ;)f these

CGP-14-02* Page No. 14 Set-A
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30. =l AwE B s 80 fh.t. g 30. The distance between two cities A and B
foredt wR A 4 e 3 R is 80 kms. A car contains 4 ltres of petrol.
T2 T o sl ol o o R R § 2 ';;Cﬁz‘_an thfiaicfo_v e[tﬁ?dlsfa_n_cftfhfeen >

(( two. cuties 7
F1: FRH 45 B 3R T h =@ 81: The car is driven at a speed of
_af”éi gl 45 kms. per hour. <
2 H @I 9y 20 B f, F el d | S2: The car consumes one litre per
20 kms = \f

(a) A1 %) //

(@) A1
(b) A2
(c) Ad ' \J’;(D.)/Aé
(d) A5 (c) A4
(e) 37 @ =1 Tt (d) A5

31. PfFa TR RA gy 2 () None of these

F1:RWAQRI
31. Howis P relatedto R ?
F2:QPHWER|
S1:Qis the sonof R. -
@ & 52 : Qis the brother of P.
(b) A2 (a) A1
b) A2
(c) A3 (b) )
(o)A
(d) A4 —
(d) A4
(e) T & wIE & Me of these

CGP-14-02~* Page No. 15 Set-A
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32. ¥ 2008 HgHiarh I RTR 2 32. Whatis the income of Sunita in the year
2008 ? '

S1: Sunita’s income in 2006 is 10%

less than her income in 2007.

1: 2006 ¥ gfar it s/ 3gdht 2007
AT H 10% FA 2|

%2 : 2006, 2007 @1 2008 & Friar it $2: Sunita’s total income in three
FAHNI5AGE. B | years 2006, 2007and 2008 is
e e ———
Rs. 5 Lac.
(a) A2
(a) A2
(b) A3
(b) A3
(c) A5 /(c)""Asﬁ
(d) A4 ' (d) A4
(e) =i A B 7 (e) None of these

33 ﬁrﬂq@ﬂwaﬁﬁwﬁﬁmm@%%‘? 33. How much money do Mohan and
| Mukesh have together ?

1 : AET % T T A 10 7. 37 3 |

S1: Mohan has 10 Rupees more than

F2: I F AR 15%. FA | what Mukesh has.
S2: Mukesh has 15 Rupees less than

(@) AS what Mohan has.
(b) A4 @) A
5 (b) A4
(c) A3
(d) A2
(d) A2
(e) 371 & 1S e (e) Nc.me'of these

CGP-14-02* Page No. 16 Set-A
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34. :ﬁé‘qasaaawqawmmmﬁaﬁﬁw&
fRed

TS ;W YT WY % T e |

ey ;1) st wRy = 9

o & foe S 2 |

l) WRikTEl g e % R sre
ELE

Frfeafaa o ®mar wd 2 2

(a) Faet ey | Raear |

(b) et e (| Frsremr 2 |

(c) S Feared | w1} Ferem ¥ |

(d) = e | wg 7 € e || e )

(€) T4 © H1g

35. I w aed v 38 W HHTRE SREe

34. Below is given a statement followed by

two conclusions based on it.

Statement : ‘Morning Walk’ is good for
health.

Conclusions : [) most of the healthy
people go for morning walk.

I) Evening walk is not good for health.
Which of the following is correct ?

(a) Only conclusion | follows

(b) Only conclusion Il follows

(c) Both-conclusions | and Il follow -

’/(d)’ ‘Neither conclusion | nor I follows -

(e) None of these

35. Below is given a statement followed by

three courses of action.

e Efam (el -sn) A T E | Statement : There is significant
e v ol o 3 ety bome otes e
QR il §_§ Ll Courses of action : I) This ;;gglem
sk (Srfamet—3hm) : 1) vt % FR-Fg should be raised in the Municipal
H 3 AT B IS ST =Ry | Corporation of the city. !
) €8 & 39 9= 1 I3AT ST TRy | ll) This problem should be raised in
) T % 37w %ﬁ . mﬁﬁﬁ 2 the Parliament.
3 B/ IR Fa s =R | ) Hospitals in the city should be
. ot sﬁgé;zféitispropeny for the treatment___
S;f?‘;?) sl iy 2 Which of the following course(s) of
action logically follows(foliow) 2
(a) =< G Il (a) Only | and If follow _
OEESH (b) Only Jil follows
OEESARCE ""‘C’)ﬁy [ and 11 follow
(d) @« " (d) All follow
(e) 399 @ 1S 7 : (e) Nos?e of these
CGP-14-02* Page No. 17
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36. . 9 =R © ufFs ¥ w3 ¥ | A R

W @e AfFEl §, s T vargw o

T G SR ] | 0 918 R
T fofeheas it sitfl ot wer 2| 3

S T et sehier & <hff ol d 1w

whiseere, faftheas aun sslif 3 s
4813 Rl 6 TRy 2

(a) gmdt

(b) et

(c) =eft

(d) wielt

(e) 18 &+ 7t

37. uf 01 Fardl, 2000 Y waw o, Y 01
S, 2001 18R

(a) HHEw
. (b) HTEER
(c) AR
@ wfEm 1
(e) ¥ A 4 7 “

38. 2 Ferll, o o =it ol @ 22 57 2

T G ST STR & 1987 R, & i ol

o SHIET T e R 2
ZYXWVUTSRQPONMLKJIHGF
EDCBA

(@ M

(b) N

(c) L

(d) K

(e) 78 & #1E 7

36. Five persons are standing in a line.
Of the two persons at the ends, one
is a bank manager and the other is
an engineer. A chartered accountant
is standing to the left of a doctor.
Position of bank manager is to the
right of advocate. Chartered
accountant stands between the
doctor and the engineer. Position.of
the doctor from the right is

(a) Sécond
(b Third
" (c) Fourth
(d) Fifth
(e) None of these

37 Ifitis Saturday on January 1, 2000 then
January 1,72001 would have been
—_ grod e A T

t//(aj Monday
(b) Tuesday
(c) Friday
(d) Saturday
(e) None of these

38. Which single letter is exactly

between the two letters — one is 22nd
from left side and the other is 19th
from righAside in the following ?

zodiuTgraPoNMKime
 (Epcea - :

(a) M

b) N .
L

(d) K

(e) None of these
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39.  STiSft ooterer 3 wuft aradl st arvrigen
It few # foran sen 21 9 w1 W
e TR 7T 3 B o1 ¥, i FRR
(TISTTeT) <hT 37 R

(a) 6
(b) 12
(©) 16
(d) 18
(e) 37 & % el

40. 10 Td 120 % st & Wt smsii o, S 7
A o Tl St € e R feht sht
T 91’ =T 3ok 37T 8, TRt s ot
13T 2

(a) 3
(b) 4
(c) 5
(d) 6
(e) T & #iS 7

41. 31, 215 39 59 ST 2 g ey
aft dearst (sit i T @ wed

2y x w v L)

X1 M T . & BB
o /

—~C
39. All the English alphabets C

arranged alphabetically in the
reverse order. The difference of the
pos%ﬂ f f two vowels whlch appear
in Qbeglnnlng) and in the end is
(@ 6

(b) 12

(c) 16
(d) 18
__{e) None of these

40. How many times the dig'rt_‘fi’_@ggejr '
in the numbers betweeg 10 and 12_0_
which are completely divisible by 7
and which consist of the digit ‘1’ in )

}a\w
( any P ‘f_ﬁ,
_(a)3
(b) 4
(c) 5
~d) 6

(e) None of these

41. The sum of all the 2 digit numbers
which are formed by the digitsd, 2 >

8) HrAm R and 3 (?epetntlon of digits allowed) is
(a) 132 (@) 132
(b) 148 (b) 148 B 3
(c) 198 _ ey 198 Lo
(d) 212 (d) 212 jse 2
(e) & & S e —{e) None of these e £
CGP-14-02* Page No. 19 'm:‘
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42, fTfafes et 42. The following words
SHRISHRI, SRISRI, SHRISRI SHRISHRI, SRISRI, SHRISRI,
SRISHRI SHREESHREE | SRISHRI SHREESHREE
o7 (R = are arranged according to dictionary .
il . )%ﬁm@.{ - rule. Which of them will beif the end 2)
o < & | 570 @ 9 o F @ 2 G = ==
(a) SRISHRI -
(@) SRISHRI )”smsm
(b) SRISRI A
(c) SHRISRI<~
(c) SHRISRI -
(d) SHRISHRIL -
(@) SH_R{SHRI (e) None of these
(e) ¥ @ 1 T
43. When we arrange the letters of the
43. = VRAKIE' % 31511 1 wgt %7 A word ‘VRAKIE’ in correct order, we -
M R, T8 T et 1 910 I S | get the name of a river. Fifth letter
39 99 ¥ 91 9 yieat aag R _from leﬂ inthatnameis =
il "
(a) R “@ (@R e A
) \I' = B /__
b) E AN B A
|
© | ¢ @\. (c)
AR @ K
(d) K ‘F‘
Ae) None of these
(e) s | &g e
44, In the following letter series, how
44. Freiferiian st sjaen 8 2G srer K A many letters of K are preceded iéi )
& % veel G R g e i P iR 2 but not followed by P 2
CLMGKPNMGKCLOGKLXG CLM@UPN_MQ,KCLoquxQ
KBKGKA KBKGKA
(a) 1 ) 1
(b) 2 b)2
(©) 3 - s
(d) 4 . _ (d) 4
(e) T & +15 <{e) None of these
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45. T=RkiRen & FET O, o7 @ e
(@) 2
(a) s
(n):ha‘
(c) Ta=R
(d) g
(e) 1 @ =15 78
46. Frafafaa d #Yaar s @ srem 2
@R 2
IR - fehe, R, Wi fhe, S, SR, 7
(a) Wiex-uTsfher
(b) =@
(©) &%
(d) =&
(e) T & 1S 7

47, @ TE de goft # s ue e | 98w

45. Which one of the following is different
(if any) from the others ? S

August, March, iuly, November,
January s

(a) August
(b) March

Lf(;;)——No/vgber
(d) July

(e) None of these

46. Which of the following is different (if
any) from the others ?

Motor-cycle, Car,- Cy/g@ Bus,

Scooter, Truck ~ ~———
(a) MO'(OI’-C).ICIG

(b) Bus

(¢) Truck

(d) SE/_qt,e_L

j(e)/ None of these

47. One term in the given number series

TR ? is wrong. What is that term ?
9_ 81
3,5, 13, 38, 87, 168 ﬁ%f%aész 168
S S
(a) 3 (@) 3
(b) 5 =5
(c) 38 (c) 38
(d) 168 (d) 168
(e) T8 T 18 T (e) None of these
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48. AWR+FMAAR ., » w0
Y x aq1 x A I + B, @
12+3+1-5x2 FAFE
(@) 5
(b) -

(©) 1
(d) —1
(e) T & =S 7 H’

49, I F TF TURT TS H ¥ U W H
R e gl e Ry § | e i
5 Y Tl T EEe ¥
() 49
(b) 44
e (c) 48
(d) 46
(e) T @ ¢ 7

ffafea e Aot = afew Ton 5@ arem Soft
Wmmﬁﬁsﬁsoﬁsaﬁamaﬁta‘lﬁml

8&@6&&??@“ dsm@'-!?é““'

50. aw{zﬁqﬁmﬁ FHE AT I TH
WAEE ?

(@) 7
(b) 9
(c) 8
(d) 10
(e) T € =S 7=

5*"‘

o

48. If + means :, + means —, — means
x and x means + , then value of

12+ 3+1-5x2is
- - X

> %
(@) 5 |
) -3 _. .
/,cej/f It — A
(@) -1 o B2
(e) None of these "y
Y- dpe

* 49. All the face cards of the colour are l

removed from the ordinary pack of
cards. The number of cards
remaining in the pack is

(a) 49

(b) 44

(c) 43 sl
(@46

(e) None of these

Study the following letter series and give
the answer of question numbers 50 to 54
which are based on this Ietter senes

;%gvi% GHluMUSTu

50. How many letters are not in their
usual place in the alphabetic order ?

(a) 7
b)o
o) 8
~ (@) 10 ’

(e) None of these

HTcaP-14-02+
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Eﬁ %maﬁaﬁzﬁmﬁ%ﬁmﬁaﬁu

W@ € ol are aurigen 3 3 2

(@) 4 =k

() 5

(c) 6

(d) 7

(e) T & =Ig A
52.'31&11‘?%5301135113@@13@@3:&7&&;

3 TS 9T 918 1 T ofer forg T
1Y AW AR ?

@ GJPV
(mEKow
(©) CHNT
(d BIOU
(e) ¥ & =3 et
53. I W UsEd & il il I grae

TSI o e st o7 ute Weitee 1w
HFY e B ?

(@ XL
“(b) TH
(c) HE
(d) SH

() ¥ & 1S el

51. How many sets of two or more letters
have letters in the alphabetic order ?

@s
s
(c) 6
(d) 7

(e) None of these

52. Some letters are preceded by and
followed by wrong letters so far as
their alphabetic order is concerned.
What are these letters ?

@ GJPV

/M Qw
(¢ CHNT
(d BIOU
(e) None of these
Y
53. . Which letters occupy seventh
position towards right and fifth

position towards left of the fifteenth
letter from the beginning ?

(e) None of these

CGP-14-02 *
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54. WY e 31ar 3 3 vEel Al aR D 54. Which letter is three letters ahead of
T 37eR TR FiEr e R 2 the letter, which precedes third letter
: from left ?
(@) F
(a) F
(b) G _
(b) G
© E el
/(C) E
>
d D
(d) @ D
() ¥ 9 = L (e) None of these
f/;h\’
55. wh Bys ABC #, BC &1 wex fag H 2| ( ?y In a triangle ABC, mid point of BC is H.
o f?r‘lﬁ ABC &1 -5 P ® | 91 AP = "~ Centreof gravity of the triangle ABC is P.
' Then AP =

1
(a) —AH
. @) 5 AH

1 A
(®) 5 AH 3
. g AH

2
© 3AH ©) —2— AH
1
(d) 7 AH (d) % AH
() ST | IS e lone of these
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56. Th &I 3 W ST G 99 % SR
B R T T TRETeh T weh v 6
T §

(a) 327
(b) 337,
(c) étﬁ.

9
(d) "2-Iﬁ.
(e) &8 @ 1S

57. 3t ROSE %! %z w1 # TQUG Rvat
&1, /1 BLUE = fordit

(a) DNWG
(b) DMQP
(c) DMVF
(d) CDGF

(e) 8 & =E 7

58. 3af} 987 ¥ wWH W 123 forar s @, @

56. Aroomiis in the shape of a cube of side
3 meters. The length of the longest rod
which can be placed in the room is

(@) 32 meters

,(b)S/J§ meters
e

(¢) 3meters
(d) meters

(e) None of these
™

e ol

‘h S s e M3
It ROSE is coded as TQUG, BLUE wil
be cod@i:i—as ./ DN
ﬂﬁwws
\.)\

(b) DMQP 0, A

VvV, 8
(c) DMVE § /
(d) CDGF /%

(e) None of these

/_SL\&-- N
AT -

el @ I'fiéééandsfor?é?, then 234 stands for
(a) 785 (a) 785 8¢ 4 =
| f
Sl (b) 567 & o /1
A\ /\\ E\ S Qh A
() 678 ) 678 Gy B f A
/ ' o / %-%
/ o
(d) 586 (d) 586 ;o
(e) 1 & =g & ey None of these .
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59. g ue dferent €1 T R

RO o & ard

(e T ) (e &)

39.9 27 4 1961-71
a7 228 1971-81
411 18.9 1981-91

39 TTTTehT & TaT S7TdT & fob Siede gag
371 951 @ 39 W

(a) 1961-71
(b) 1966-76
(c) 1971-81
(d) 1981-91

(e) 391 ¥ 1E 7

60. fefcrRaa & it st & srem @ (@R 2 )
38 BT |
i, O, =, 3%
(a) Ui
(b) &
(c) =i

(d) 5=

(e) 4 | g 7€l

50.

60.

Below is given a table

Birthrate Death rate Year
per per
thousand thousand

39.9 27.4 1961-71
41.7 22.8 1971-81
411 18.9 1981-91 _-

From the above table it follows that
the maximum addition of population
occurred during the period

(a) 1961-71
(b) 1966-76
() 1971-81

@ fonistt

(e) None of these

Find the odd one out (if any) from the
following.

Pencil, Pen, Chalk, Ink
(a) Pencil
(b) Pen

Ue) Chalk_
() Tk

=

(e) None of these
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61. Frerferfan & < el & srem 2 @R 2 @)
34 B |
14 991, 19 7a%=R, 5 fqen
12 SHal, 2 Serqert, 30 SR

(a) 19 Fa=R
(b) 5 st
(c) 30 sadl

(d) 12 sl

(e) ¥ & s el

62, SWwIRI W aIg N T2
| (@) wedi &
(b) T &
(c) Tt &
(d) fafeen @
(6) ¥ & 1S T

63. HIETeHT T T (F1d) ¥ It Ty & =Y
(a) e s o=@ ?
(b) e st fRerft @ @
() T HFTH AR
(d) e T SR 2

(e) ¥ & &1 Tl

61. Find the odd one out (if any) from the

following.
/i4 November, 19 November,”

/5 September, 12 ;}E_nuary. 2 October,
30 January 8

(@) 19 November
(b) 5 September
ﬂanuaw
(d) 12 January
(e) None of these

62. Shoe is related to Leather as Brick is
related to

(a) Stones

(b)- Fire

(e Ciay
(d) Building

(e) None of these

63. Interview is to service as
(a) Ticket is to travel
(b)rﬁmination is to degree
T
(c) Travel is to bus
(d) Lightis to darkness

(e) None of these

CGP-14-02 *
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64.

i faw ™ gy W few Sife

- Ue$F : 99 : I

5.

e Ry ™ wee-aqgl § & S sw
T ST TRy g9t 2

(a) 9 : SIES : MArER

(b) STEHM : TGS Ve : UL

(C) TS : &R : YGATEAT

(d) ZT:F : 39 :

(€) T & IS e

THRIT 379 R @ wreran € | STR-ivem R
10 i we ¥ 912 9% =for-gfem
R & 20 fix v 21 R 9 <Rywi-
E R # 20 et s 21 o 4w
U TR IR g ST R ) W e
femdAsnwig 2

64. Consider the relationship given below
Road : Bus : Driver.

Now choose the group of words from
the following which shows the same
relationship as given above.

(a) water : ship : diver
_(b)-sky ':Eerqplane : pilot

(c) péper: letters : reader

(d) track : train : passenger

(e) none of these

65. Rakesh leaves from his house. He
walks 10 meters in North-West direction
and then 20 meters in South-West
direction. Next he moves 20 meters in
South-East direction. Finally he turns
towards his house. In which direction
is Rakesh going ?

@) afém-qs‘ (a) South-East
8, b) North-West
(c) =Rmor—afem {b) Hlosth-Wes
(d) SR (c) South-West
(6) T & Fré Tt (d) Noﬂ_h~East
' : (e) None of these
66. T O IR w5 A e w1 wwg sar ~
2R AEERRMTRYL DA | g5 A watch shows the time of 4.30 hours
o2 ) ¥ FEh Ran s 2 (4 hours and 30 minutes). If the minute
hand points East, in what direction will
(a) SwR-d the hour hand point ?
(b) afaq_t@‘ (a) North-East
(©) T /,(b)' South-East
(c) North
(d) STR-vfem _ (d) North-West
(e) 37 @ =+ 7 (e) None of these
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67. Fefoafes = w syt o # =afer
s

1. wqEm

2. g

3. ufEn

4. 29

5. T

(@) 2,3,5,1,4
{b) 2,8,8,4,1-
(0) 2,8,1,8, 4
(d) 2,3,4,1,5
() ¥ & = e

68. Fifefi 3 wh srofyl 30w 3 99 4 73
A 3 saf@rm B

67. Arrange the following in a meaningful
order

1. Community

2. Member -

3. Family _I

4. Country

5. Locality

(@) 2,3,5,1,4
/(b)/zfz;‘s 4,1

(€) 2,3,1,5,4

(d) 2,3,4,1,5

(e) None of these

i e 68. Arrange the following in a logical order
i from small to big -
2.9%H 1. Flat
3. 48 2. House
4. S 3. Palace
5. Ffam 4. Bungalow
(8) 1,2,3.4 5 5. Cottage
(@) 1, 2,3,4,5
b)"5,1,2.4 3 .
(b) _M5,1,2,4,3 —
(©) 5,2,1,3,4 € 5.2,1,3,4
(d) 5,2,1,4,3 (d) 5,2,1,4.3 -
(e) 378 4 =S e (e) None of these
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69. 39k W T WHT 990 It =5y Y o)
Pt < e % e e 3o fmeror S
® | 3719 T H4Y ?

(a) 31 foaTeYera 3 et sufeere 4 s

(b) @19 =T @l For srmer W

(c) 3mT TEeh! 9ot 3 g wARYE F 7 ay
T T S STEHT ST

(d) 3 3wh & Rig 9 sur @i

(e) ¥ & = '

70. 3719 T SRR E ot ST s v
HGAT FH 3k & T @R | oy
Ht 2
(a) 19 IEH Gu & e Fw T ik

&

(b) mm@rwm_aﬁaﬁrwm
61 YA HT

() amzwwmmmﬁﬁ

(d) @9 38 Fafeg w5

(e) &% & =g e

71. ST IF Tereherd d ged 8 @ ue
T frererar &
(a) F& Feert 3 v T B
(b) T et e o §
(c) eeTer hrer e 35 forg
() =TS geerTery Jeeh Toe e &
() ¥7H & g e

69. The cook who prepares food in your
house has invited you to his daughter’s
wedding. What would you do ?

(@) You will just attend the wedding
(b) You will ignore the invitation

- (¢) You will cohgratulate him and
make some excuse for not
attending the wedding

/(d)/\"ou will buy a gift for his daughter

(e) None of these

70. You are an officer and one of your
employees is not perfoming his duty
properly. What would you do ?

(&) You will give him some more time
to improve '

(b) You will talk to him and try to find
“out his problem

(c) You will transfer him

(d) You will suspend him

(e) None of these

71.  From the statement ‘Every library has
books', it follows that

(@) Some libraries do not have
readers

(b) Books are only in library
~ (e) Libraries are meant for books only
_Ady No library is without books

(e) None of these

CGP-14-02*
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72, SEA qﬁmmnﬂaaﬁ%ﬁ%ﬁ%’aaz
T frererar @ 6

(a) @ i =afeq i war g © 9l
394 I B

(b) T Tt ot wRveT S BT 2 f’<

() W T =t g A g <

(d) @nﬂaaﬁﬁq\sﬁwﬁﬁﬁm%’\

(e) 375 & 18 &

73, qmman‘?%ﬁsﬂ%%@%@ Fifter 3 e,
“Suehl wt A e % g o welt R | o ik
SEES R [ SARIE g S .

¥ forg yern TrafRa & 2

(a) grfter =1 g

(b) Tt et <rrer
(c) FrfieT <1 s
(d) Grfiet a1 ehst
(e) 37 ¥ K T

| 74, T HigeT il 3R IR g, U et
T HE I0F IS 0 T A weht
R 21’ 9% witen, s@ smedt ¥ e v

72. From the statement ‘Ability is poor
man’'s wealth’, it follows that

/H’A/poor man can earn wealth if he
has ability

(b) A wealthy man is always able -’
(c) A poor man is always able -7’

(d) A poor man has the ability to earn
wealth :

(e) None of these

73. Looking at the photo of a man, Sunil
said, “His mother is the wife of my
Father's son. Brothers and Sisters |
have none”. How the man in the photo
is related to Sunil ?

sl
/(a}'Sunil’s son
(b) Sunil's uncle
(c) Sunil's nephew
(d) Sunil's cousin 1

(e) None of these

74.  Pointing to a lady, a man said, ‘The son
of heronly brother is the brother of my

TR g ? wife." How is the_lad_y_ rfaigted _to the_mEfr P
l (a) gt (a) Daugfte{
(b) WX F 5 (b) Srste;r of father-in-law
(c) = (c) Grandmother
(d) Wi 5&A (d) Mother’s sister
(e) 310 & IS e (e) None of these
CGP-14-02*
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(a) |rett

(b) el

(0)
/| p@ (d) =T
la (o) T & 7

Z/ frfofea Yo = e

76. WA R @ R wny i wafd sga ol
? TR oft e 1 Tt B | 39 oft 7 ST,
Sy ST e | Fafy e te srrervashan
2 9% ¢ For Togaen! < wiersh @ Hym & ufd
I TTE F FH FH F AN T
fopg s =R |
%ﬁﬁammﬁw@mm%m
25

(a) P wR A AT [

(b) Tt & =ufaqea &+ o Tym & gfd
Fale T T T8 8

(c) %vm % wfa e 9 fera ST =Ry
(d) = =t et e & 1R T T

75. Find the odd one out (if any) from th
following.

brother-in-law, Iécturer—m-law}ster-ivri

law, father-in-law, mother-in-la
daughter-in-law

(a) Brother-in-law

(b) Sister-in-law

(c) Father-in-law

(d) Moth?r-in—law . |

/(e')"l"&one of these

Read the following passage :

: Naste of time and the expenditure o
fashions is very large, yet fashions ar¢

here to stay. They will not go, whateve
happens. However, what is nov
required is that strong efforts should b¢
made to reduce the excessive craze fo
fashion from the minds of youngsters.

The passage best supports the
statementthat

(a) Fashion is the need of the day

Excessive craze for fashion is no

good to one’s personality

(c) Craze for fashion should bt
reduced

(d) Work should be valued more thar

ST IR A - ,outward appearance
o) FH W 7 (e) None of these
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% @a&mﬁ%@ﬁm,@w@smﬁmﬁm
1YY AT § | e T R
(@) 2.30
~ (b) 3.30
(c) 4.30

(d) 5.30

(e) s & IS H&

78. s gofgren F (a2 wiewd H) W@ AAwd
e it 3 wfdfee gt i S dl 8,
e
(a) 8

(b) 7

(e) 0 W HIE A

79. AW o1 uw et (fi 50 .. ufd e
a2 o we nrenEl s faudia e g e
R, 9dFs T 38 IR R el ¥ | HIErTE
$ o 280 M ®, df (.. ufd =wer H)
3! 7T B

77. When seen through a mirror, a clock
shows 8 hours and 30 minutes (8.30).
The correct time is

(a) 2.30
(b) 3.30.
pl

4.30
(d) 5.30

(e) None of these

@ The number of English alphabets (in

—~" capital letters) whose water-images are
same as the original letters is

(a) 8
(b) 7
(c) 6

@5

=l
/,..-fe’f None of these

79. A man sitting in a train which is moving
at 50 Kmph, observes that a goods
train, travelling in opposite direction,
takes 9 seconds to pass him. Length of
the 99_(_)95_ train is 280 meters its speed
is (in Kilometer per hour)

(a) 58 (a) 58
(b) 60 (b) 60
(c) 62 (ey B2
L
(d) 64 (d) 64
(e) T8 A &S A& (e) None of these
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80. UH ¥ 108 T, ufty uod < fy @ 5ot
| 3Eeh ifey wew 9y Yo 7 3

(a) 10.8

(b) 18

(c) 21.6
_ (d) 32.4

(e) ¥ @ 13 e

81. UF =ufe 7t % e ) Ry ¥ 32 fs o
don s % Tl 14 B, A o @

1 8 TT I3 gt & T 6 702 @
RIECEEIR AT R oS B

(a) 1
® 5
(© 1%

(d) 2

() ¥4 @+ 7

82. A TT Awd B frelt <ot bt e 36 v
W 4590 § wwHd € | afk 2t argw ww

80. A train moves with a speed of

108 kilometer per hour. Its speed in
meter per second is

(@) 10.8
(b) 18
(c) 21.6
(d) 32.4
(e)-None of these
81. A man rows downstream 32 km and
upstream 14 km. If he takes 6 hours to

cover each distance, velocity of current
in kmph is

(a) 1
b ¥%
P

(d) 2

(e) None of these

82. Two pipes A and B can fill a tank in
36 hours and 45 hours respectively. If both

e 2 ® W At Y g § o) T the pipes are opened simultaneously,
STt 2 how much time will be taken to fill the
tank ?
(a) 10 gue .

(@) 10 hours

(b) 15 =we (b) 15 hours

- (0) 187w (¢) 18 hours

(d) 20 v 20 Hours

.
() ¥ & = T (e) None of these
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T u{/
| c) =T

(d) ®™

(e) 3

84. “maga%‘twasaﬁ%”émﬁaﬁm
w0

85. = W & S vss glew TE R 2

86. Torm e | qui femviar o a1 ST R 2
(a) I AT TR
(b) R T B TR
Bg,\c)/rrfﬁruamaﬁm
V"’(df mﬁﬁﬁﬁaw
(o) AR

87. WEIZEY ¥ i qHE { 7

(@) e

g

(c) sEsifR

(d) &%

(e) Ty

88. frjur & s Ium § 2

(a) € M f
(b) e (b)
(©) ¥ \/w'f{
\}@ ' (d) fom
(e)‘ AR (e) g
CGP-14-02~* Page No. 35 Set-A



(d) =

(e) |T

0. FT¥ ge d A qER w1 e

92, WER 1 Haes &
(a) w2t
(b) e S
o
(d) verEn

(e) ¥8 & =IE

93. %ﬁmﬁ’gmaiwawef%

Taig ?
(a) IReFR ST
(a) ST g arsha |
_-T6) e g
(b) ST _
g
A s v e
(d) ¥R H e L
o1, 37T 1 e 3 94- “EIE'{E?F'HT TR e R
(b) e g @
W@Hm
(C) [ 98 T AT
(c) 3w ey
(d) 7 g oy ) A w gen w©
(d)m et EI'F{T
(e) ¥ & wIE 7 (e) 37 A #E 7
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95. WM (JE-u2) ¥ T et v
L—Ta) sl

(b) =Rl

(c) e

(d) s

(o) T @ K Tt

986. ﬁgﬁs AR ¥ T HS TohaH &) Belleed o
FeEd B '

08. sqﬁ@mmqaw-wwwhqﬁa ?
(a) wet-avet

(b) -

AT

(é)sqﬁﬁaé‘r%qﬁ

99. AWiwi/wW ¥, we v w9

S ORE L
(a) wug (b) # &1 et
(b) \ Q) A d
@ T (e) T & s &
(e) ¥ & HIg A 100. B i fot 3 forg S g gaas 3
97, ‘@ryar = uaes 2 (a) 3R
(b) et
(c)
(c) @
(e) T & w13 & (e) T § g el
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